Analytic Methods

Spring 2009


Final Exam

(You may omit any complete question or questions for 20% credit)

I. Your client was injured in a train accident and is suing the company. They have offered her $20,000 as a settlement. What sort of information will you need in order to draw a decision theory diagram to help you decide whether she should accept the offer? How might you obtain that information? 
(5 points)
II. Briefly explain how one uses subgame perfect equilibrium to figure out what will happen. In what sort of situation might you expect subgame perfect equilibrium to incorrectly predict what would happen? 
(10 points)
III. According to this course, what is the central objective when designing a contract? Briefly discuss how to achieve it.
(10 points)

IV. Answer A or B. 
(5 points)
A. Firms sometimes make expenditures in one year in order to generate revenue in the next year, or collect revenue in one year for services they will produce in the next year. How does an accountant handle such situations?

B. You are the owner of a family firm established by your grandfather; over the years the firm has acquired various assets, including land, brand name reputation, and the like. You have now decided to take the firm public and retire, so want the balance sheet to look as good as possible. What transactions might you consider making in order to do so? 


V. What is the “efficient market hypothesis?” Why would one expect it to be approximately true? Why would one not expect it to be precisely true? 
(10 points)
VI. A firm you have sued makes two alternative settlement offers: $4,000,000 today or $2,500,000 today and another $2,000,000 five years from now.  If the interest rate is 10%, which offer should you prefer? Explain briefly.
(5 points)
VII. Why do monopolies exist? How does a private, unregulated single price monopoly set the price to sell it? In what sense is that the “wrong price” if we take account of the interests of both producers and consumers? Explain.
(10 points)
VIII. [image: image1..pict]The figure shows your demand curve for apples. If they are available at $1/apple, what is your consumer surplus from apples (give a number or show on the figure)? Briefly explain what this means. 
(5 points)
IX. What does “negligence” mean to economists?

   (5 points)
X. In economic analysis, outcomes are judged by their effect on everyone--on the size of the pie. If you steal $100 from me, you end up $100 better off, I end up $100 worse off. Does that mean that, from the standpoint of economic analysis, there is no reason to make theft illegal or to disapprove of it? Explain. 
(10 points)
XI. You have been retained by WacDonalds to help defend against a class action suit claiming that their food is hazardous to diabetics. The lead attorney has asked you to look into the statistical arguments offered by the plaintiffs' attorneys; other members of the team will be looking at the legal and medical issues. Three pieces of statistical evidence have been offered: 
(15 points)
[image: image2..pict]1. Analysis of data on a random sample of 1000 diabetics, produced as part of a university study intended to discover environmental effects on diabetes, showed a positive correlation significant at the .05 level between the level of blood sugar and how far it was from the individual's home to the nearest WacDonalds. This fact alone demonstrates that the odds are at least nineteen to one that WacDonalds cause high blood sugar in diabetics, which much more than meets the civil standard of preponderance of the evidence. 

2. For three days starting at 8 A.M. Monday, January 5th, 2009, one of the lead plaintiffs measured his blood sugar at intervals. During that time he visited a WacDonalds twice. As the graph shows, each time his bood sugar level shot up and remained elevated for some time.

3. At the beginning of 2008, another of the lead plaintiffs moved from Chicago, where there were WacDonalds at which he often ate near both his home and his workplace, to Hanover, New Hampshire, where there is no WacDonalds within ten miles. His blood sugar dropped 30% between December 1, 2007 and December 1, 2008, demonstrating the magnitude of the improvement due to no longer eating at a WacDonalds.

Point out as many errors as you can find in the above arguments. [I count at least six]

XII. Monterey Law School has reported that the average LSAT of its students is 160. In a conversation with a friend going there, you insist that students at Santa Clara are better than at Monterey, and he challenges you to prove it. You circulate a questionaire in your first year torts class, against students what their LSAT was, and get a hundred responses. Analyzing the data, you find that the mean is 160.5 and the standard deviation of the reported scores is 2. When you report this to your friend, he responds that although you may be right, that's very weak evidence, since the difference between the two averages is only a quarter of a standard deviation, so could easily be due to chance.

1. Explain why he is wrong. 

2. What further criticisms of your evidence might he have made in response, if he had taken this course?
(10 points)
XIII. The result of a multiple regression is normally reported in terms of three sorts of numbers: a regression coefficient for each independent variable, a t-statistic for each independent variable, and a value of R2 for the whole regression.

Give a brief verbal explanation of what sort of information each of those numbers provides. 
(10 points)

